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1. This question paper has 100 questions. Each question carries 2 marks.
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CGP-19-02 Page No. 2 Set-D



1.

E The Vision

R H e ey g, T eEyag | -

The relation which 1s in between first
two, establishing the same relation

At < & AN T = 8 edNe | between the last two fill up the space of
forger % v <6t ofd ifere - question mark.
TALE : LATE : : 7: CAFE TALE : LATE ::?: CAFE
(a) FACE I (a) PACE
(b) CAEF (b) CAEF
(c) FEAC (¢) FEAC
(d) CEFA (d) CEFA
2. Wi FHE Y o4 A G T I 2. Present age of mother is three times the
GIERIG| 211299 9 97 ) Ay 38 F ] present age of daughter. After 12 years
g Y g1 T B Sehl | = A % mother’s age will be twice of daughter’s
a1y et 2 2 | age. What is the present age of daughter ?
(a) 1898 ! (&) 1§ years
(b) 1694 | (b) 16 years
(c) 1474 (¢) 14 years
(d) 1294 (d) 12 years
|
3. RAEJETicraas au9%. ! 3. One term is missing in the following
T A1 TR i series, find the missing term :
M3V, O5U, R7T, T9S, W1IR. 2 i M3V, O5U, R7T, T9S, WI1IR, ?
(@) YI3Q | R
(b) Z13Q ]I (b) Z13Q
(c) YI3P | (¢) Y13P
(d) Y15Q i (d) Y15Q
CGP -19-02 Page No. 3 Set-D
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Directions (Qns. 4-3) :
Following questions are based on the

information given below :

(i) ‘P x Q' means ‘P is father of Q’

(i) ‘P-Q 131 ‘P,QHI T’ (ii) P —Q’ means ‘P is sister of Q’

L Y S S

(iii) *P + Q" means ‘P is mother of Q’

(iii) ‘P + Q' &I 3 P, QA A&

(iv) *P + Q & e *P, Q &I WIS &’ (iv) ‘P + Q" means ‘P is brother of Q’

4. B+DxM-=Nasf=FfaaM=IBHE 4. In the expression B+ D x M + N, how

is M relatedto B 7

Y 2

(a) i (a) Grand Daughter
(b) Tl (b) Grand Son

(¢) T (c) Son

(dy T (d) Daughter

5, FEAasRTRAs@ R M &

qATHAI 8 ?

S.  Which of the following represents ‘R is

niece of M" ?

(a) M+=K=xT+R (a) M=KxT+R

(&) M=J¥R-N (b) M=~J+R=N
(¢) R—MxT+W ) Rl e

(d) R_*!-MxT-:—w A
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Ife ‘eraser’ W ‘scale’, ‘scale’ i | 6. If ‘eraser’ is called ‘scale’, ‘scale’ is
‘sharpner’, ‘sharpner’ %! ‘pin’, ‘pin’ &1 | called ‘sharlpnr-.‘r > E‘harpfler s ca]]e'd
‘bag’ T ‘bag’ F ‘pencil’ FET TR L, A ‘pin’, ‘pin’ is called "bag’, and “bag’ is
bag’ ¥ "bag sl s ’ called ‘pencil’, what will a person erase
w A fored farergm 2 with ?
(a) scale (a) scale
(b) pencil (b) pencil
(¢) bag ] (c) bag
(d) pen i (d) pen
7. wga: @t AC, DC 2, %% DC, EC %, 7. Statement : All AC are DC, some DC
@ EC, YY £ | are EC, all EC are YY.
forsd - Conclusion :
(i) $8AC,ECE | (i) Some AC are EC.
(i) B8 YY,DC? | ! (i) Some YY are DC.
(iii) A8 AC, EC &1 28 1 | (iii) No AC is EC.
(iv) ¥i DC, AC & | | (iv) AllDC are AC.
ot adt fresd 2 then correct conclusion is :
(a) 9 (1) (a) only (i)
(b) = (ii) (b) only (ii)
(e) (i) 3 (iii) (e) (i) and (iii)
(d) (i) 3R (iv) (d) (i) and (iv)

8. TWINRATB, 125Fd fighmd 8. Two cities A & B are 125 km apart.
U =fad P, Iel A H TRt B 61 aff{gag l Person P started from city A towards
07:30 5%, 25 F i wfr o S iy S 3k I city B at 07:30 am. at the speed of

9 ; S
E%Q,Wﬂﬁ%{ﬁiﬁaﬁ{ﬂﬁ I 25 ]Cl'l’l-'q'll'.EIIdQSIHI{Ed from city B
- Beoh ofivad ot I towards city A at 07:00 am. at the
O?.Oﬂ‘ » 30 S H | speed of 30 km/hr, then they will meet
oA & ot 91 fopa == firet 7 | at
(2) 09:30am, I (2) 09:30 a.m.
(b) 09:45 a.m. I (b) 09:45 am.
LD } (¢) 10:00 a.m.
( LS | (d) 10:15am.
CGP-19-02 N Page No.5 Set-D



IIIlIIIIIIIEIIIILI|IIIII|I|IIIIﬂII|||IIII||

; The Vision

‘ kin 5
6 TS qon 2 rsfpai Fedt sm I ST | 9. 6 boys and 2 girls can do a wor h
i i t
A 9 gHa B, wEts 13 @9 aur 7 { days, while 13 boys and 7 girls do the
wrefral 3t =m =1 2 A § W 8, | same work in 2 days. Then 7 boys and
i 7 v o 3 wefeal 3@ S W i 3 girls can complete the same work in
s ‘ I (a) 4 days
(a) 4T | ]
e n | (b) 4% days
(b) 4312713'?-‘; |
: (c) 6 days
(c) 6FAtH i
1o
(d) 5‘ﬁ=i'fﬁ (d) 65days
|
+Q P+O .. P
10. "ﬂﬁ——'??lﬁi Qﬁf‘ﬁﬁ% 10. %atisthevalueufp—_—g“lfa=
(@) 1/3 (a) 1/3
(b) 2/3 } (b) 2/3
(c) 4/3 | (c) 4/3
|
11. PﬁﬂTQﬁWﬁa’FﬁmﬁIZﬁ?ﬁ‘{{T | 11. P and Q together can do a work in 12
W AFAE | QAU R 6 TR T I PAUTR % days. Q and R in 6 days. P and R in 4
4fed, @ P,Q R oY s wm | days. If P, Q, R work together they will
&7 Ly cxull % complete the work in :
(a) 2FAH I (a) 2 days
(by 4f=iA | (b) 4 days
(c) sfeTH ; (¢) 5 days
e ]
(d) ST 1 (d) 5L days
CGP-19-02 S
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Which of the following is included in

12. f=fafigs & =9 o1 srdafes swe | 12
e e interpersonal skill ?
|
(a) sfey & w39 F1 9E TN A H (a) One’s ability to give correct
> l answer to the question.
(b) =afF i gE safFE ¥ gry T (b) One’s ability to interact effectively
ot o d ] with other people.
© £ weh i & ks (¢) One’s ability to do his/her work
¢) =afeq YT
4 | properly.
: (d) One’s ability to present ideas at a
dy =afe 1 Toer 7 fo=m g =3
@ | conference.
=T JEE |
13. Fefeied § S § FRF SHCEGRE | 13 Which of the following are influencing
HISe i THTIeE i =Tet & 2 factors of interpersonal skill ?
(1) ATHF (i) Experience
(i) ®9-T1 (i) Appearance
(iii) IER (iit) Family
. |
(iv) T | (iv) Friends
(a) (ii), (1) TS (iv) | (a) (i), (iii) and (iv)
&), IR | ® G Gi) and Gii)
T SRR | © (. Gidand (v)
a) (0. (i), €l (v |
(d) (i), (11), (iii) TF (iv) | @ G, Gi), Gif) and (iv)
|
CGP-19-02 Page No.7 Set-D
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14 |_ImomSSE s ce=is=a | 14 11":.mwzﬁmaddr¢55clftﬂmﬂkca“‘aff
it | e e
B W s T e i iﬂt‘;!ou;ng is the most appropriate
R dshad? communication 7
(a) wg-F T (a) Small group communication
(b) Te—mwita g (b) Two-way communication
(c) 3Tmifecs THEw (c) Non-verbal communication
(d) == TEEy I (d) Mass communication

15. Us 6nad # 3= HA<adiaaes $igeil 9 15. People with good interpersonal skills
gerd SAfaE] Sl STavasHar 8 adin | are required in an organisation because
(2) 3 a1ftrs IR B E | (a) They are more productive.

6) X e o % (b) They look for solutions to
problems.
Shbe, S i E (¢) They have positive attitude
wn i towards their work.
(@ FH A (d) All of these.

16. F=qadiaae womer d giifee § 16. Interpersonal communication includes
(i) AR T FTN (1) Active listening
(i) s | (ii) Persuasion
(iii) 39T 9N } (i1i} Suitable language
(iv) gBase | (iv) Feedback
@ (@, (i) T iv) } (@) (i), (iii) and (iv) only
(b) A (i), (i) W (iv) | (b) (ii), (iii) and (iv) only
(c) =had (i), (ii) T (iii) i (¢) (i), (ii) and (i) only
(d) (), (i), (iii) T (iv) } @) (), i), (i) and (iv)

CGP —-19-02 Page No. 8
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Pal has some hens and some goats, If all

17, T % UG %o gl s g awiei g | 17,
Ife wEdl 3 $a 43 i 2 3t F 142 | heads of animals are 43 and feets are 142,
¥, A T v F@ Rreeft affat & 2 then how many hens Pal does have ?
(a) 128 (a) 128
(c) 15 (c) 15
(d) Truifta 7€ fEpan 1 wehan (d) Cannot be determined.
18. 23 =um =i eEgds 9fed | 18. Rcad the given statement carefully
Gy 7 fedti & et <t we | (i) Number of minutes in 7 days.
| (ii) Number of hours in 60 weeks.
(ii) 60 WHTEI 1 =i &1 HeAl | ,
Choose the correct option :
wel Lt (a) The guantity of (1) is greater than
(a) (i) HAE] (i) T 90 | IS T quantity of (i1).
(b) (i) <t @ (i) B HET A e 2 | (b) The quantity of (ii) is greater than
_— ) ] I quantity of (i).
(c) TFIh! HEE S & | |
] (c) Both quantities are equal.
@ TR l } (d) Comparison cannot be determined.
|
19. mnmnmnnnmmomnmmmmnnmmn } 19. mnmnmnnnmmnmnmmmmnnmmn
oY e ‘m’ 8 o @adl 'm 8 3R | How many m’s are preceded by *‘m’ and
FAFdl ‘n° B ? | followed by *n” ?
|
(a) 2 I (a) 2
(b) 3 4 (b) 3
(c) 4 1 © 4
(d) 1 | (d) 1
|
CGP-19-02 Page No.9 Set-D
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ve consecutive odd

bainransiy] Rl prrrart
T 37T 41 8 | A 37T E &1 UGS BT : | eesora s Bl B8
@ 1 1I (@) 1977
(b) 1517 | ) 1517
(c) 1665 (c) 1665
(d) 1591 (d) 1591
21. 3R Feht wpe1 & 60% oI A 8, @1 | 21, If 60% of the student in a school are
STl < T 812 £, 99 seil | boys and number of girls is 812, then
~ | the number of boys will be
e Bt |
| (a) 1218
(a) 1218 I
(b) 1200 (b) 1200
(c) 1217 | (c) 1217
(d) 1210 (d) 1210
22. Yl % 909 UF 3ia 9947 395 9y ) | 22.  Atthe time of marriage the average age
AT AP 23 99 off | 5 99 & 9€ IS l of woman and her husband was 23
i 1 99 &1 5=31 ¢ | 319 g1 9fEr &5 ] }"E‘IHTS- After five years they have one
afraa g frai 2 2 { year kid. ijv' what is the average age
| of whole family ?
i) o | (a) 19 years
s e f (b) 28.5 years
(c) 237 Il (c) 23 years
(d) 29379 E (d) 29.3 years
CGP—-19-02 Page No. 10 =
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23, Y URET 8 : 9 F a7gua # § | afg = | 23. Twoamountsare in the ratio 8 : 9, Ifthe
is 24, then the other quantity is
eett 24 8, dt qud afir @ Hestonsis quantity
(a) 27
(a) 27
(b) 9
(b) 9 l
7
(c) 7 (c)
(d) 63 : (d) 63
24. ﬁ'{;ﬂ' m = él 'ﬂ':n ‘a‘ 15 m', 25 a; 24, Twice of a number decreased b}" 15
- equals 25, then that number will be
TR B, a9 98 S 8 ¢ | q
l (a) 20
(a) 20
b) 25
() 25 (b)
(c) 30 (c) 30
(d) 35 (d) 35
|
25, oe dway fraet 12%4%, 175% 8, &9 - | 25. The number whose 12 % is 175% will
be
T ! (a) 1404
(b) 1440 i 15, 4
(e} 1% ! (c) 1044
L 404 } (dy 404
26. 8400 T 32% + 760 T 15% FIHH & 26. The value of 32% of 8400 + 15% of 760
15
o) % (a) 2912
(b} 2841 i (b) 2848
5] dise | () 2722
(d) 2802 1 (d) 2802
CGP-19-02 Page No. 11 set-D
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27. = o P paa oS TS AW | 70 If o and p both are odd numbers, then
= == = -h-_'__.s_._'l-;_,_._.— mEnrn il b= &ven pumber of the
e e, o = e e T T
=T foliowing mumbers 7
‘ i (2) Tp
(z) |
- | (&) n—p
(b.] n—p !
| (c) np+2
(c) mp+2 | :
d) n+p+
(d) n+p+1 | (d) n+p
|
28. aftAxBFTHE2, A BHEuwHE; | 28 IfA xBmeans A is in the South of B,
A+BFIIGE, A BHIWIAR, A+B A + B means A is in the North of B,
F 3 8 A, B F THE T 2 A =B means Aisin East of B, A—-B
A—BErd 2 A BSufvag &2, means A is in the West of B, then in
P*Q+R—S§S=Qﬁ?'€ﬁ$ﬁ?ﬂésn P = Q + R -S in which direction is S
ﬁ_% ’ “"‘ithl’ﬂspﬂttﬂQ?
?
(a) South-East
(a) afdror-qd
(b) South-West
(b) <lgur-afam
(c) North-East
(c) ST |
(d) IeR-ufvew (d) North-West
29. afE+ e+, — 1 awd +, x 7 e - i 29. If+means -+, — means +, x means — and
3fl'(+ﬁ-ﬁ31‘éfx75=l,?h I +means x,then 16+ 12+4—6x8=7
16+12+4—6I8=? I| (a) 36
a) 36
; i = (b) 46
1
(c) 196 } (€) 196
(d) 162 i (d) 162
CGP-19-02 " page No. 12
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30. A,BwIftmgauB,CHERI | 30. Aisafriend of B and B is a friend of C.
. A, CHIiR } Conclusion : A is a friend of C.
I fsed % The above conclusion is
(a) TR (a) True
(b) ITHR | | (b) False
(c) Fffeam g1 {¢) Uncertain
(d) TTER B | (d) Irrelevant
31. o e § gEwT T SR A 1497 A | 31 In an examination Sudhir’s position is
Jepat w1 w2 A= B 1891 2 | Ffe gt ] 14" from the top and position of Pankaj
o 1 2691 2, @ S A UHA W is 18% from bottom. If Sudhir’s position
o TR Y is 26™ from bottom, then what is the
position of Pankaj from top ?
a) 26a
@ (a) 26™
(b) 22di (b) 22%
(c) 2041 () 20%
|
32. U gelarea gve 1 15 fiqe st gt i 32. A clock is fast by 15 min. in 24 Hrs. It
2 | 20 SO 12 = 9 foem S B, A I is made right at 12 noon, what time it
4 am R oL & free =g g 2 | showat 4.am ?
(8) 4:10am S i
(b) 4:15 am | (b) 4:15am
(¢) 3:45am I (c) 3:45 am
(d) 4:30 am i (d) 4:30 am
CGP-19-02 Page No. 13 set-D
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33. 9 & 1 aww gEen F, e WHW 33. Which letter comeslin place of *7” in the
following letter series ?
s FCE 2
GDFCE 2 | . j D
(a) A
(b) B (b) B
(¢) H | (c) H
(d) I (d) I
34. = < TE I1EN sT,gaT H, 9 % TIH 9 34. Which letter comes in place of ‘7" in the
F W SR W ? | following letter series ?
{DYTO. 2 IDYTO 2
l (a) I
(a) I
(b) J b) J
() K (c) K
(d) L (d) L
|
35. A% @ T SR S@en #, 9 g | 35 Which letter comes in place of *?” in the
HA AT I AT ? } following letter series 7
WTROMIJ_ 2 ! WTROMIJ 2
(a) F i F
®) £ } (b) Z
= } (©) H
(d K % -
CGP-19-02
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LR AR
4w « (9. 36-38)

2 e v wwAi 4, € HUF S1 T S2 AW
frspd 19 11 feu € | ST el S1 U1 S2 %
Ter T B, Pty =6t fi6 391 (A) (B) (C), (D)
I @ i a1 U wiehs &9 € Aeear 2 7

Directions : (Qns. 36-38)

In the
statements S1 & S2 are given followed by
two conclusions I & II. Taking the two

following questions, two

statements S1 and S2 as true, decide which
one of the answer (A), (B), (C), (D) logically
follows.

36. HYA: i
l 36. Statements :
51 : T 1HATS] Swlg el | S1 : Some players are brave.
S2 : afl Fiod TEK # | 1 S2 : All boys are brave.
=5y 1: ﬁw, wA=h B | t Conclusions :
. ~ I : Some players are boys.
11 : 5O 5%, el 2 | | i
I II : Some boys are players.
(a) ee [T B @ | % (a) Only I follows.
(b) Hae I 3T BT & | (b) Only II follows.
(c) 713119 GRS (¢} Neither I nor 11 follows.
i | (d) Both I and Il follow.
(d) SHT IS AT 8ld & !
37. YA - 37. Statements :
. S1 : All girls are engineers.
S1 : Tt wvefera, Seffra ; E =
. 82 : All travellers are girls,
S2 : goft 7w, wsfear € | |
. } Conclusions :
frspd 1 ot e, SRt E
l 1 : All travellers are engineers.
- gt wrefeal, I € |
1 g I IT : All girls are travellers.
(8) LTee Bier 2 | l (a) Only I follows.
(b) S LW BT R | 5 (b) Only II follows.
(c) ATFRIANTTAEAE | | (¢) Neither [ nor II follows.
(d) SHTIF 19T i & | t (d) Both I and II follow,
Ii —
CGP-19-02 Page No. 15 sat-D
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38. =wuq 38. Statements:
" tand the problem
S1 : 3 et wmen (599) 1 T 999 S1 : Renu can understan p
quickly.
aFdal g |
! S2 : Mathematics students have good
$2 : fvra < foremeft sr=ot i reasoning ability.
WA Conclusions :
e 1 'Hﬁmﬁﬁ; A e 2 | I : Renu has good reasoning ability,
U :31 ores <hi feremefi 2 | II : Renu is Mathematics student.
(a) aet 1T BT s | i (a) Only I follows.
(b) a1 97T B E | | (b) Only II follows.
(c) FIFRALNIAEAE | ! (¢) Neither I nor II follows.
(d) DR méﬁ% ! (d) Both I and II follow.
39, NI : 991 36 dE ey 2 2 39. Questions : Is the two digit number
odd 7
FYT1(S1) : B F AT TR |
Statement 1 (S1) : Sum of the digits is
WY 2 (S2) : TE HI 2 YO0 HH W even.
TS TH T A Bl € ) Statement 2 (S2) : The number, when
(a) ot SI, 59 FT FW @ F fU multiplied by 2, feiches an even
3 : number.
N | 2
a) S1 alone is sufficient to answer the
(b) ¥ S2, W W IW 2 F I B
g # | i
¢ | (b) S2 alone is sufficient to answer the
(c) S1 7 S2 ST et o =1 39 2 E question.
THd & | | (c) Both S1 & S2 combined can give
th .
(@) S1 3 S22 fremm v w1 Jee 2y | ¢ answer of the question.
—;‘F-ﬁq-qqqh;r&ﬁgl i (d) Both S1 & 82 combined are not
2 sufficient to answer the question.
CGP—19-02 Page No. 16 .
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40, TH 30 iSO e wEeaT s | 98

Tet fire § 15 e 9@ 2 g g

i
|
|
|
|
|
|
|
|
|
|
|
|
|
|

40. A monkey climbs 2 pole of height

41.

30 metres. In the first minute, he climbs
15 metres but in the second minute slips
down 12 metres. The process continues
till he reaches on the top of the pole.
Time required to reach on the top of the

pole is

10 minutes

(a)
(b) 11 minutes

12 minutes

(c)
(d) None of these

Mahesh has some apples. He gave half
of the apples to Suresh but got | apple
back from Suresh. Then he gave half of
the apples available with him to Dinesh
and got 1 apple back from him. Third
time he repeated the same process with
Harish. In the end, he was having the
same number of apples which he had in
the beginning. Number of apples he had

in the beginning is
(a) 4
(b) 6
(¢) 8

(d) None of these

e 12 et Rrmar e 2 1 @t & fid
T G % YEE o T8 Wi I R |
T o i 7 ugE AN §
(a) 10f2
(b) 11fime
(¢) 12fme
(d) T9H I FE T

41. WRYIHUH GO 6 3 | I Y e T
=1 fiu g T | | &9 998 & fod |
TUF §1E Hew J Ieiey HEi ) 98 5
3y B few w1 @ few qun | A9 oW
198 o Toran | @t vl a4, dad 9w
oft, gtsr o a1y e | 37 | 36 U
I & g9 9 R 5 oo 7 9 | v
I, 39+ 78 Tal i g oft
(a) 4
(b) 6
(c) 8
(d) oTH & H7§

CGP-19-02
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42, TN =795 3% FEN i <ohTS TUH W 43. [fN=7%- 358 then the digit at the unit
3 2 place of N is
(a) 3
(a) 3
&) % (b) 4
©) 6 (c) 6
@ 7 | @7
43. gfte T T 1,350 8 <1 Il 64 i | 3G | 43. Sunil bought two items in ¥ 1,350. He
i 6% loss and another
g o " & ?:r: :]:E?.l:: ::nﬁi This deal finally
o 93 | g A T I T | ends with no profit no loss. Purchase
T | O FRGH1 5 5 e, A B % price of the two items are respectively
(a) Z850,%775 (a) 2 850,% 775
(b) T 825,725 (b) T 825,3725
(c) ¥750,% 600 (c) T750,% 600
(d) %775,%650 (d) T775,3 650
44. 999 3K 4000 % wex (1 1 WA | 44.  How many integers between 999 and
+Td gY), W Topaa quifes € & 3R 0, 1, ; 4000 (including both) can be formed,
2,3 9 4 ¥ SAIQ S G § Afg 37 A | using the digits 0, 1, 2, 3, 4 if repetition
AU & H 2 } of digits is allowed ?
(a) 325 I (a) 325
{b) 316 | (b) 376
(c) 425 I (c) 425
@ s @
CGP—-19-02 Page No. 18
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QR

45. Frfafea aoft & et & wdl ® 7@ | 45
hifsre ;

ADB, EHF,ILJ, |,

(a) LOM, NOQ ]

(b) MPN, QTR !

(¢) LMN, OPQ

(d) NPQ, MNP

46. FafafEndsr@Sivesng o 46.

6,11, 15, 18, 20,
(a) 22,23
(b) 21,22
(¢) 21,21
(d) 20,21

47. P,Q R, SaTuimfmg IT,.sasa | 47

AT PA TR | R, S @ o & 997 Q,
SAUIBIRIZTTH U ol R | a9
BT 9 G99 T FA9: B

(a) PR
(b) TAP
(c) SIT

(d) RIQ

|
|
I
I
|
|
|
|
I
|
|
|
|
1

Find the next two terms of the

following series :
ADB.EHF. I, .
(a) LOM, NOQ
(b) MPN, QTR
(c) LMN, OPQ
(d) NPQ, MNP

What are the next two terms in the

following ?
6,11,15,18,20, _,

(a) 22,23

(b) 21,22

(c) 21,21

(d) 20,21

There are 5 friends P, Q, R, S and T.
T is shorter than S, but taller than P. R
is taller than S and Q is a little shorter
than S and little taller than T. The

shortest and the tallest are respectively
(a) PandR
(b) TandP
(¢) SandT

(d) RandQ

CGP-19-02 Page No. 19
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|

8. Which letter will appear in place of (?)

in the following ﬁEure ?

FHE AW ?
| 1|p|D
1|P|D -
K|Q
K|Q|G
M|R|?
M|R|?
(a) H (a) H
®) 1 l m
() K () K
(d) THAHE G (d) None of these

49. WRPREF,F, F,3NF, T HFAFE T | 49. Four friends F,, F, F; and F, are
@ﬁtgiip“m%mmﬁaﬁtmpl playing on a carom board. F, faces
%1 Yau 9w Y 3R 2 | F, 7T F, towards North and F; faces towards
e ¥ | R e <l B 3R 2 West. F, and F, are partners. Who is

- facing towards South ?
a) F
(a) Fy @ F,
(b) F,
l (b) F,
(c) F, -
c
(d F, 2
(d) F,

50. Y 3R F | B feao #, 20% @ | 50, In 1 kg. mixture of sand and iron, 20%
2 I e AR fiyen fean oo o 5 is iron. How much sand should be
Toror 1 &ar 10% B s 2 added so that the proportion of iron

I becomes 10% 7
(a) 2Tw.m
" | (a) 2kg
b) 15T,
= I (b) 1.5kg
(d) 0.5, l (d) 0.5kg
CGP-19-02 _ Page No. 20 - Set-D
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51. foeft ofeq #, wilg & & 7af  @en | 51.  Inarow, Pramod is 7" from the left and

T, 2 R 991 & | 2T st Rt I Prakash is 9" from the right. Both of

T 33 f R gt | them interchange their positions,
A el TR SR Pramod becomes 11" from the left. How

AT 8 | afaa & ot foham e 2 2 many people are there in the row ?

(a) 17 (a) 17

(b) 18 b) 18

v 42 () 19

d) 20
@ (d) 20
e (7% 52-53) Directions : (Qns. 52-53)
3y forery T Wi =T wfirera # wF TREN | The Pie chart given below represents

; i the domestic expenditure of a family in
- T 2 | S | & i percent. Study the chart to answer these

A &1 I ¢ gfe giEn & Fel uifas 3@ | question if total monthly income of the family

| .
733,650 | | is ¥ 33,650.
I A B
I 25 18
(%
| =
12
E|
i 13 22
A I A Food
B o ST l B House rent
c ¥ ; C Entertainment
. I D Education and maintenance of
D ﬁﬁﬁ‘maw-‘tﬁﬁm | children
E TaferedT ud 371 We, } E Medical and miscellaneous
F yfasy fafy l F Provident Fund
|

CGP — 19 - 02 | Page No. 21 SetD
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| |1IIIHIIBﬂII[I]HHI|||IIIIIIIIiﬂ|HI

TR g WIS aT FAReH o A 52. The total amount per month that the
family spends on food and

-ﬁ AT el S entertainment combined together is :

(8] EIAE () 12,443

(b) T 12,315 | ® T12315

@ T (©) T11,432

) FILA (d) T 11,441

53, iy uEwE R 53. The house rent per month is

(a) % 6,000 (&) T 6,000

(b) 6,152 (b) ¥ 6,152

(c) T 6,057 (c) 6,057

(@) % 6,048 (d) Z 6,048

e s we—— s

54. Find the next two terms of the

54. €1 TE HEE1 h A G TG T7q DL

Z.S.W.0.T.K, Q.G.2.2 following series :

Z,S,W,0,T.K QG727

(@ N,C @ N,C
2 B0 (b) N,D
(c) O,C ) O,C
(d) 0,D (@) 0.D

L
L
L]

55, afe HINDU = fepet aisfas wmar o
61257 I MAN =i 932 fer@r sran 8, 1
It wreRfas 9mar §F INDIAN =1 faan

IfHINDU is coded as 61257 and MAN
is coded as 932, then INDIAN will be

written as :
| (a) 125312

(a) 125312
(®) 125132 (b) 125132
(c) 251312 (c) 251312
(d) 121523 (d) 121523

i S—— —— — e T e B ——————— i ——— e r———
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56. afe Trdt ad @1 B uw A GuEr =

| 56, 1famonthinayear starts with Monday,
T 2T 8 ot 39 arg fydta wfem @ | then the date of the fourth day after the

|

|

|

second Saturday in that month, will be

=% fem 6 fafer 2rft

(a) 16
@) 16
®) 17 By 13
() 18 (0) 18
d 19 d) 19

57. QM Wﬂ%ﬁﬁ,ﬁﬁ | o7t = T 57. Tn the following series some letters are

missing. Select the correct set of letters.

TR 1 T5T . |

a_ cbabacac
acbabaeac

(a) abacch (a) abacch
(b) acchab (b) acchab
(c) aabbcc (¢) aabbcc
(d) baccbb (d) baccbb

§8. A is taller than B, but not as tall as C.

58, A, B® o 2, W C g &= @i

D is taller than E, but not as tal] as B.

2 | D, E 3 o= & 9t B o o =i
e TE I S8 ?

Who among them is the tallest 7

|
|
|
!
|
|
|
|
(a) C |
|
|
|
|
I

{a) C

(b) B
(b) B

(&) E
(c) E

d) A
) A (@

CGP -19-02 Page No. 23 Set-D
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59. wA YT F IS Crl 59. Choose the correct group :
NHP : OGQ :: TLJ: ? NHP:0GQ = TLJ :?
(a) UKL I (ﬂ} UKL
(b) VKK (b) VKK
(e) UKK (¢) UKK
(d) KUK | (d KUK
60. U wishl < few Hr RS 8 1 9 60, A girl is facing South. She turns 60° in
ug 1 g8 i e 3 60° ga wrdt 8 the clockwise direction and then tumn
agra ael ot g &t faude fean = 105 | 105° in the anti-clockwise direction. In
o 1t & | 3= 95 e R d 8 2 which direction now she is facing ?
(a) I % (a) North-East
(b) i (b) East
(© S E (¢) West
(@) -‘I‘é { (d) South-East
l
|
61. A ¥ BHFE “Fer i 319 odt F ol & | 61. A to B, “Yesterday I met the only
Sehedtd WS O firen 1 A freg frar a2 I brother of the daughter of my grand
(a) - | mother”. Whom did A meet ?
(b) - I (a) Cousin
I (b) Brother
el | (c¢) Nephew
@) fm I (d) Father
€GP -19-02 Page No. 24 Set-D
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(e

& (1. 62-63) : i Directions Qns. (62-63) =
Frefafaa swi § s = eft = In each of the following questions,
1

arrange the words in a meaningful, logical

(b) 3,1,2,4,5

(c) 3,1,4,

[
Lh

a@mwaﬁawﬁr@%ym%: order and then select the approprnate
62. 1. wfefen sequence from the alternatives given below
each of the groups of words.
2. HIHThR
62. 1. Probation
3. = 2. Interview
4. ﬁl’g% 3. §¢lecﬁ0n
4, Appointments
5. famm | i
) 5. Advertisement
6. e
i 6. Application
(@) 5,6,2,3,4,1 | (a) 5,6,2,3,4,1
(b) 5,6,.3,2,4,1 (b) 5,6,3,2,4,1
() 5,6,4,2,3,1 | (e S03a.2. 3. 4
(dy 6,5,4,2,3,1 (d) 6,5,4,2,3,1
63. 1. HRER ; 63. 1. Family
2. GHCH ; 2.  Community
3. "WeH | 3. Member
4, ORI I 4. Locality
5. o9 f 5. Country
|
{ﬂ} 3,',2,514 i (ﬂ] (, B i M T
I
I
i
I
|

() 3. 1,48.5,2

E
,L"'"
L
Lh
I
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Each vowel of the word *‘ADJECTIVE’

64. ‘ADJECTIVE ¥ § & Yo% &R &I | 64.
arifoh SoiRTen 36 oTTe! JTER ¥ T Wk is substituted with the next letter in the
siET & 38% foe e ¥ faenfa | English alphabetical series and each
fopa mran &, at T e ST o= consonant is substituted with the letter
= 9 preceding it. How many vowels are
=HL :
present in the new arrangement ?
(a) IR
1 {(a) Four
(b) T
(b) One
©
) (e} I'wo
d)
@ (d) Three

65. Ife UNIVERSITY = & 378 4 ‘A’ 65. If from the letters of the word

! ‘B’; ‘B’ ! ‘C’ fer@n 9w a9 38 W61 UNIVERSITY, ‘A’ is written ‘B’, ‘B’
o W, at frefefas s & | =519 is written ‘C’ and so on, then which of
a1 37 i @ oftat e & =1 3 the following letter is the third to the
e se g 2 | left from third letter from right ?
(a) M i (a) M
) A } (b) A
(c) Z { © Z
() ¥ Qi = (d) None of these

I

CGP-13-02 Page No. 26 Set-D



; The Vision

)1 AT
66. TEIETG Ve @ B ES-wwErei R | 7). o Wy % vea-1fd < ¥ F
(a) & ... % R H AR
(b) & (a) ereat Il
(e}, W (b) vaw
G = { (c) <. Tggaanl
R L T g— | (d) e TR
b 72. S 6 SHETE” T F oEH-
(a) =¥H1
(b) W @ o
() Sm (a) 37. G FaR 9eF @ 2. ged
(d) %9 | e | o
(by 7. Foeier X wd =T, gt o
68. “TH Gien 9IS 2, SER 9 7S & Yael #1 (c) Sl T =g #auAT ud 2. fomem
a2 E
(a) 9all | (d) 2. faerleme a® @ 3. daHa
(b) urett TIH
(c) el
(d)} ST 73. oEETE Ut aNteE %1y e &9 |
69. '@?ﬁ?ﬁﬂ‘&r@ﬁmmaﬁ% (a) 398
(a) e@ | (b) ehroft
i’; j;“ oW
. (d) gfgssdt
(d) " |
T e — % 74. ‘Mefwmsmsale i faw 2
(a) Tou=ef I (@) ﬁu‘ﬂTﬁﬁﬁﬂT
(b) frfire | (b) HEgEIY®
() fesm | (o) Fo=EE
(d) FFe ! (d) FrmmfeEes
CGP-19-02 Page No. 27 Set-D
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75, ‘ogus ACOIO@ L [N AE A Ghaaras | 80. AR i A Yg = 8
w2 | (@) wufed
(a) 98 { (b) wWE
(b) TS ' (c) FFI%?[
(c) 3r=sl | (@) T
(d) ®4 |
81, @A % FaA ugd?
76, v W et TR INE ? oy
(a) =& . 5T
(b) &= (© =
(c) =R @) oE
(d) 9%
e & % 82, ‘oA’ A RA-TIWE 2 ?
' (a) S (a) wgie
(b) TR T (b) HHUTH
(c) e v g (@) fe1
(d) Rrwurh s (@) e
78.  yummE’ & afi-frede g ¢ 83, ‘i Hiy-forede 2
(a) We+HAE (a) 3+
(b) WY +HHE | (b) & + =t
(c) W +uT | () 7+ i
(d) w1 +HAH I (d) AT +7
79. TR 1 vt v i & 134. Frfirfam & ot a2
(8) % | (a) #oaw Rrech Zar |
(b) @@ { (b) & wa i Rl TET |
(6 W | © frew e
(d) Sl ! @) a3 e faeeh
cGP-19-02 Page No. 28 Set-D
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fr=fefaa 4 @ ooff odond & it | 89. T i Sy TS T A B T Eg H w4
NG FEAE ?
(5 = (a) waT
(b) T=t '
(c) =G ®)
(d) At () e
(d) TRt
86. il S :Wﬁm‘%m%:
(a) =f. g g 4 90, SHETE e I I faem @ -
(b) =i Fmem = (a) el
(c) =T, T =g HetET by T
d) dt.oE.
(d) .wH. gzl & T
87. ®HL@ F e fHE WE-4iEn & (d)
AT AT ? ?
(a) 3 J91. TS 6 T Bid Weal w1 SE HE
(b) zfae & fore SelierTg TSNS AN g -
(c) P 1 FEEH ST TR 7
(d) fesedt-<i=1 % (a) WTE HE
; | (b fasiE
88. ‘oAEEl W @YU ST % w@® | )
g T | (¢) HTHEHE
(a) =f. foggam Ue® wd =i { (d) Hrt
feaeTEER 1w |
(b) of. Fragar wes ww s | 92, RS TR EN H FH-WITHER R ?
RegoR uEs i (a) FEAAEE
(c) =. fomagum wes wW = |
f (b) HHEATI=:
) | qTEITE®
(d) &. fFmegm wes w s | ()
ferepam 3t i G BELLEIEES
CGP-19-02 Page No. 29 Set-D



; The Vision

|IIIIIHIIIHNIIHI\II!IIII!IIl

. o & e TR F AR AT . | 97, uidy HH-qwwa # ?
(2) @R I (a) It
(b) TERA I (b) HHURE
(c) s | (c) I
(d) =TT ! (d) T
l
94, BFETA T B TEF GEEE A i 98. zE=g EMT & foTu Seftaml YEET @
(a) BATA I (a) HrEet &A1
(b) EA-TR | (b) FHied-Hiar &
(c) @i } (¢) Fitan uw
(d) weAlEa l (d) Wig g

95, Frfifen # ¥ Fw-m wt-wem | 99 SR I GEE HT AR -

BTG AT B ? (a) Twr=En

(a) -=ft | (b) ErsaHET

(b) - wedt (c) WHTH HET

(c) - & (d) i H@

(d) - ¥ f

| 100, “edtFIRE.......” FEwEa ¥ e =F

96. ‘WA’ HFA-T LT R 7 I # gff Hifdre .

() - 3 | (@ T

b) = i (b) ¥ T

© =% i (c) TEm

(d) -drg J (d) w9 @R
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